


1. Key words for today

[

plan = 'A|&'0|2t= 2o 2 o] 20| X|Tt
1 2o ChE Sa% XS0| US.

* Data 2 38| ex) Data plan
* ZAFO|L} HETO| YR X E
ex) the plan of the museum

* ZIM HX]|= ex) seating plan

break = ‘ZAA|ZH!
ex) M A A|ZF lunch break (NOT lunch time)



2. 6rammar tipsl!

P
=
1.

take a walk VS go for a
‘take a walk'2 T3] ‘M SICH
‘go for a walk’ 2 AHXslE] Zt= Z10] XHO0| AS

ex) 2 SlAtofl X2t
- I was late for work today.

2. OfRI0|M E7|= o{7H2E — go + -ing

ex) 27| Et2{ 7}C}: go skiing
Al ZIC}: go fishing
=X X|2{ 7IC}: go golfing

3. "E§I‘6H"
-2 “Call me.” & ZX|2t “Give me a call”,

“Give me a ring” . B£0| £2LC}.



- 3. Speaking patterns

lt’f‘gg

1. I always .... after work.

Ql. L= E[Z5ta 5 gymof| 7}
— I always go to the gym after work.

Q2. Lt= E|Z5ln 5 £ S 7L

— I always go shopping after work.

Q3. Lt= E|2otn = o|H| S =hela.

— I always check my e-mail after work:



- 3. Speaking patterns

W?"

2. We're planning to ... this weekend.

QL. 2 o' Fato| BHe 2|2 F0]of.

— We're planning to meet this weekend.

Q2. 97 O FUO| YETS Y2 ¥ AY S0/o.

=1 o
— We're planning to visit the museum this weekend.

Q3. 92 o[ Frofl Fatol Z A F0|ok.

— We're planning to go to the movies this weekend.
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< 3. Speaking patterns

3. I often ... during my lunch break.

QL. h Hd AlZHof -’5—-"‘- OfLHofl A =t &H.

during my lunch break.
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& =4_ Pronunciation tips!

ll’F‘

I often take a walk here

during my lunch break.

= often 2 /O|E/ E= /O{EE/ R
= O &3 7Is¢E.

= walk here S /|7|¥/ M2 & =l
/h/ AM2E7F 2% S0 S0{7IH

227 o2, e s ¥ 2.



~<5. Common mistakes )

4

1%

“He is obedient”.

'EFHQ of £ AL ZOoX|ME =FX0|0jAM
HEE ZCi0 2o5k= K0 2HZCt.

- He follows orders well. O|2}11 ®#Si5}H EIC}

* gLt ACHX| Y "L SN =

HEEX 2.

* JE AYHoR YB SUE AEE f
Mt B

SHe is self-motivated. 1= OjA}0j| 2] %{0]OF.
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6. Expression of the day
‘otE &’

- apple polisher
- brown noser
-. O} 0] H|=IQl A}t

-. apple polisher®C} O Zst 4oz ME =

#50| 9A9i.':t1| a rﬂ}% '.’_*’5.“.’_2. +0LA,
Z polish sjA| E2|= Z4E of™o|ztn
MZrot 40 M fefsts B

ex) 1= 1'd O F0| otL|Zt OFF 0| H|= o] OF.

= He's not an apple polisher, but a brown noser.
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7 .British- American Cultures

[Pub] =2 & £2}

> Ale-beer = €= & H|x WHAo= OIE H
> tap = BX|OJM O}E &

- draft beer = MOz

- binge drinking = &2 2| OjA|=
* ' ZZSICH 2= 29| ‘binge’El= THHE
a

B= AHS2 & 0 = L2EEE HSlECH



